

ABC Bid Data

STATEWIDE TIER 2 (W) RESURFACING

42272

X-A004(829)

PROJECT: STATEWIDE TIER 2 (W) RESURFACING

STATE PROJECT NUMBER: 42272

FED. PROJECT NUMBER: X-A004(829)

DATE BIDS OPEN: December 12, 2019,

SCOPE OF WORK: Resurfacing various Tier 2 roadways in District 2. September 18, 2020

COMPLETION DATE:

LOCATION:

Awarded To: GMI ASPHALT LLC

288 LACONIA ROAD

BELMONT, NH 03220

Amount: \$2,123,488.80

Award Date:

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
GMI ASPHALT LLC	\$2,123,488.80	A
288 LACONIA ROAD, BELMONT NH 03220		
PIKE INDUSTRIES, INC.	\$2,132,703.50	В
3 EASTGATE PARK ROAD, BELMONT NH 03220		

				F	°S&E	288 LAC	PHALT LLC DNIA ROAD T, NH 03220	3 EASTGAT	STRIES, INC. E PARK ROAD T, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.7	REMOVAL OF GUARDRAIL	LF	15,900.00	\$2.70	\$42,930.00	\$1.75	\$27,825.00	\$1.50	\$23,850.00
-		U	<u> </u>						
203.5562	EAGRT PLATFORM ALTERNATE		60.00	\$1,200.00	\$72,000.00	\$1,331.40	\$79,884.00	\$1,550.00	\$93,000.00
203.5572	EAGRT PLATFORM ALTERNATE, TL 2 - 25'	U	3.00	\$1,200.00	\$3,600.00	\$1,331.40	\$3,994.20	\$1,325.00	\$3,975.00
206.1	COMMON STRUCTURE EXCAVATION	CY	10.00	\$115.00	\$1,150.00	\$525.00	\$5,250.00	\$525.00	\$5,250.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	10.00	\$65.00	\$650.00	\$200.00	\$2,000.00	\$65.00	\$650.00
304.301	CRUSHED GRAVEL	CY	4.00	\$85.00	\$340.00	\$285.00	\$1,140.00	\$225.00	\$900.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,960.00	\$27.00	\$79,920.00	\$21.00	\$62,160.00	\$30.00	\$88,800.00
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	1,200.00	\$90.00	\$108,000.00	\$89.00	\$106,800.00	\$71.00	\$85,200.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	24.00	\$135.00	\$3,240.00	\$150.00	\$3,600.00	\$200.00	\$4,800.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	1,200.00	\$2.00	\$2,400.00	\$4.00	\$4,800.00	\$2.50	\$3,000.00
403.6	PAVEMENT JOINT ADHESIVE	LF	2,600.00	\$0.30	\$780.00	\$0.70	\$1,820.00	\$0.75	\$1,950.00
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	1,310.00	\$1.30	\$1,703.00	\$1.40	\$1,834.00	\$1.50	\$1,965.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	14,500.00	\$4.00	\$58,000.00	\$4.00	\$58,000.00	\$3.00	\$43,500.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	9,800.00	\$75.00	\$735,000.00	\$74.00	\$725,200.00	\$70.75	\$693,350.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	3,790.00	\$4.50	\$17,055.00	\$4.50	\$17,055.00	\$5.00	\$18,950.00
585.3	STONE FILL, CLASS C	CY	3.00	\$55.00	\$165.00	\$250.00	\$750.00	\$200.00	\$600.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	3.00	\$6.00	\$18.00	\$90.00	\$270.00	\$60.00	\$180.00
604.0007	POLYETHYLENE LINER	EA	35.00	\$130.00	\$4,550.00	\$120.00	\$4,200.00	\$130.00	\$4,550.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	29.00	\$455.00	\$13,195.00	\$500.00	\$14,500.00	\$675.00	\$19,575.00
604.51	RECONSTRUCTING/ADJUSTING SEWER MANHOLES	LF	2.00	\$380.00	\$760.00	\$500.00	\$1,000.00	\$625.00	\$1,250.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	5.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	\$575.00	\$2,875.00
604.72	GRATES & FRAMES, TYPE B	EA	10.00	\$600.00	\$6,000.00	\$550.00	\$5,500.00	\$695.00	\$6,950.00
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	320.00	\$12.00	\$3,840.00	\$16.00	\$5,120.00	\$12.00	\$3,840.00
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	12.00	\$60.00	\$720.00	\$69.00	\$828.00	\$75.00	\$900.00
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	12.00	\$10.00	\$120.00	\$14.00	\$168.00	\$15.00	\$180.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	48.00	\$2,800.00	\$134,400.00	\$2,975.00	\$142,800.00	\$3,230.00	\$155,040.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	12.00	\$2,650.00	\$31,800.00	\$2,975.00	\$35,700.00	\$3,250.00	\$39,000.00
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	3.00	\$2,800.00	\$8,400.00	\$2,900.00	\$8,700.00	\$3,000.00	\$9,000.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	1.00	\$750.00	\$750.00	\$990.00	\$990.00	\$850.00	\$850.00

					PS&E	288 LAC	PHALT LLC CONIA ROAD NT, NH 03220	PIKE IND 3 EASTGA BELMOI	USTRIES, INC. TE PARK ROAD NT, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.141	BEAM GUARDRAIL (CURVED W/CRT POSTS)	LF	50.00	\$30.00	\$1,500.00	\$39.00	\$1,950.00	\$35.00	\$1,750.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	13,975.00	\$23.00	\$321,425.00	\$22.00	\$307,450.00	\$21.00	\$293,475.00
606.84	ANCHOR FOR CURVED GUARDRAIL W/CRT POSTS	U	1.00	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$1,850.00	\$1,850.00
608.2401	4" CONCRETE SIDEWALK	SY	21.00	\$60.00	\$1,260.00	\$95.00	\$1,995.00	\$95.00	\$1,995.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	5.00	\$440.00	\$2,200.00	\$550.00	\$2,750.00	\$550.00	\$2,750.00
609.01	STRAIGHT GRANITE CURB	LF	8.00	\$40.00	\$320.00	\$100.00	\$800.00	\$100.00	\$800.00
609.5	RESET GRANITE CURB	LF	40.00	\$24.00	\$960.00	\$100.00	\$4,000.00	\$100.00	\$4,000.00
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	2,080.00	\$6.25	\$13,000.00	\$6.90	\$14,352.00	\$12.00	\$24,960.00
615.0201	TRAFFIC SIGN TYPE B	SF	159.17	\$65.00	\$10,346.05	\$54.00	\$8,595.18	\$120.00	\$19,100.40
615.0301	TRAFFIC SIGN TYPE C	SF	33.25	\$50.00	\$1,662.50	\$54.00	\$1,795.50	\$105.00	\$3,491.25
615.0601	TRAFFIC SIGN TYPE CC	SF	9.19	\$16.00	\$147.04	\$18.00	\$165.42	\$65.00	\$597.35
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	6.00	\$1,000.00	\$6,000.00	\$1,680.00	\$10,080.00	\$2,200.00	\$13,200.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	32,000.00	\$1.00	\$32,000.00	\$1.00	\$32,000.00	\$1.00	\$32,000.00
618.7	FLAGGERS	HR	600.00	\$34.00	\$20,400.00	\$36.00	\$21,600.00	\$40.00	\$24,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$150,000.00	\$150,000.00	\$52,000.00	\$52,000.00	\$55,000.00	\$55,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,350.00	\$13,400.00	\$1,400.20	\$5,600.80	\$3,950.00	\$15,800.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	212.00	\$5.00	\$1,060.00	\$5.60	\$1,187.20	\$5.00	\$1,060.00
621.31	SINGLE DELINEATOR WITH POST	EA	167.00	\$50.00	\$8,350.00	\$50.00	\$8,350.00	\$60.00	\$10,020.00
621.32	DOUBLE DELINEATOR WITH POST	EA	33.00	\$50.00	\$1,650.00	\$52.00	\$1,716.00	\$65.00	\$2,145.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	92.00	\$2.25	\$207.00	\$10.00	\$920.00	\$10.00	\$920.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	584,800.00	\$0.15	\$87,720.00	\$0.22	\$128,656.00	\$0.20	\$116,960.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	630.00	\$1.40	\$882.00	\$3.00	\$1,890.00	\$0.75	\$472.50
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	340.00	\$4.00	\$1,360.00	\$6.00	\$2,040.00	\$3.60	\$1,224.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	630.00	\$1.00	\$630.00	\$3.25	\$2,047.50	\$3.00	\$1,890.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	370.00	\$1.25	\$462.50	\$4.50	\$1,665.00	\$4.00	\$1,480.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	90.00	\$3.00	\$270.00	\$9.00	\$810.00	\$6.00	\$540.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	340.00	\$5.00	\$1,700.00	\$11.00	\$3,740.00	\$9.00	\$3,060.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	430.00	\$8.40	\$3,612.00	\$11.20	\$4,816.00	\$11.00	\$4,730.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,080.00	\$0.42	\$453.60	\$1.25	\$1,350.00	\$1.00	\$1,080.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	46.00	\$2.01	\$92.46	\$4.50	\$207.00	\$4.00	\$184.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	616.00	\$2.12	\$1,305.92	\$4.50	\$2,772.00	\$4.00	\$2,464.00

				PS&E		288 LAC	PHALT LLC CONIA ROAD NT, NH 03220	PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	500.00	\$2.60	\$1,300.00	\$9.10	\$4,550.00	\$8.00	\$4,000.00	
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	9.00	\$220.00	\$1,980.00	\$250.00	\$2,250.00	\$175.00	\$1,575.00	
692.	MOBILIZATION	U	1.00	\$219,895.00	\$219,895.00	\$98,000.00	\$98,000.00	\$105,000.00	\$105,000.00	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,200.00	\$1.00	\$3,200.00	\$1.00	\$3,200.00	\$1.00	\$3,200.00	
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	

Totals:	\$2,308,737.07	\$2,123,488.80	\$2,132,703.50
Alt. Totals:			
Totals:	\$2,308,737.07	\$2,123,488.80	\$2,132,703.50



PS&E Comparison

STATEWIDE TIER 2 (W) RESURFACING 42272 X-A004(829)

				A-Bide	der	PS8	kЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	15,900.00	\$1.75	\$27,825.00	\$2.70	\$42,930.00	(\$15,105.00)
203.5562	EAGRT PLATFORM ALTERNATE	U	60.00	\$1,331.40	\$79,884.00	\$1,200.00	\$72,000.00	\$7,884.00
203.5572	EAGRT PLATFORM ALTERNATE, TL 2 - 25'	U	3.00	\$1,331.40	\$3,994.20	\$1,200.00	\$3,600.00	\$394.20
206.1	COMMON STRUCTURE EXCAVATION	CY	10.00	\$525.00	\$5,250.00	\$115.00	\$1,150.00	\$4,100.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	10.00	\$200.00	\$2,000.00	\$65.00	\$650.00	\$1,350.00
304.301	CRUSHED GRAVEL	CY	4.00	\$285.00	\$1,140.00	\$85.00	\$340.00	\$800.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	2,960.00	\$21.00	\$62,160.00	\$27.00	\$79,920.00	(\$17,760.00)
403.119	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	1,200.00	\$89.00	\$106,800.00	\$90.00	\$108,000.00	(\$1,200.00)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	24.00	\$150.00	\$3,600.00	\$135.00	\$3,240.00	\$360.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	1,200.00	\$4.00	\$4,800.00	\$2.00	\$2,400.00	\$2,400.00
403.6	PAVEMENT JOINT ADHESIVE	LF	2,600.00	\$0.70	\$1,820.00	\$0.30	\$780.00	\$1,040.00
403.61	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	1,310.00	\$1.40	\$1,834.00	\$1.30	\$1,703.00	\$131.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	14,500.00	\$4.00	\$58,000.00	\$4.00	\$58,000.00	\$0.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	9,800.00	\$74.00	\$725,200.00	\$75.00	\$735,000.00	(\$9,800.00)

417.	COLD PLANING BITUMINOUS SURFACES	SY	3,790.00	\$4.50	\$17,055.00	\$4.50	\$17,055.00	\$0.00
585.3	STONE FILL, CLASS C	CY	3.00	\$250.00	\$750.00	\$55.00	\$165.00	\$585.00
593.421	GEOTEXTILE; PERM CONTROL CL.2, NON-WOVEN	SY	3.00	\$90.00	\$270.00	\$6.00	\$18.00	\$252.00
604.0007	POLYETHYLENE LINER	EA	35.00	\$120.00	\$4,200.00	\$130.00	\$4,550.00	(\$350.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	29.00	\$500.00	\$14,500.00	\$455.00	\$13,195.00	\$1,305.00
604.51	RECONSTRUCTING/ADJUSTING SEWER MANHOLES	LF	2.00	\$500.00	\$1,000.00	\$380.00	\$760.00	\$240.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	5.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	\$0.00
604.72	GRATES & FRAMES, TYPE B	EA	10.00	\$550.00	\$5,500.00	\$600.00	\$6,000.00	(\$500.00)
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	320.00	\$16.00	\$5,120.00	\$12.00	\$3,840.00	\$1,280.00
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	12.00	\$69.00	\$828.00	\$60.00	\$720.00	\$108.00
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	12.00	\$14.00	\$168.00	\$10.00	\$120.00	\$48.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	48.00	\$2,975.00	\$142,800.00	\$2,800.00	\$134,400.00	\$8,400.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	12.00	\$2,975.00	\$35,700.00	\$2,650.00	\$31,800.00	\$3,900.00
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	3.00	\$2,900.00	\$8,700.00	\$2,800.00	\$8,400.00	\$300.00
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	1.00	\$990.00	\$990.00	\$750.00	\$750.00	\$240.00
606.141	BEAM GUARDRAIL (CURVED W/CRT POSTS)	LF	50.00	\$39.00	\$1,950.00	\$30.00	\$1,500.00	\$450.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	13,975.00	\$22.00	\$307,450.00	\$23.00	\$321,425.00	(\$13,975.00)
606.84	ANCHOR FOR CURVED GUARDRAIL W/CRT POSTS	U	1.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	(\$200.00)
608.2401	4" CONCRETE SIDEWALK	SY	21.00	\$95.00	\$1,995.00	\$60.00	\$1,260.00	\$735.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	5.00	\$550.00	\$2,750.00	\$440.00	\$2,200.00	\$550.00
609.01	STRAIGHT GRANITE CURB	LF	8.00	\$100.00	\$800.00	\$40.00	\$320.00	\$480.00

Tuesday, December 17, 2019

609.5	RESET GRANITE CURB	LF	40.00	\$100.00	\$4,000.00	\$24.00	\$960.00	\$3,040.00
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	2,080.00	\$6.90	\$14,352.00	\$6.25	\$13,000.00	\$1,352.00
615.0201	TRAFFIC SIGN TYPE B	SF	159.17	\$54.00	\$8,595.18	\$65.00	\$10,346.05	(\$1,750.87)
615.0301	TRAFFIC SIGN TYPE C	SF	33.25	\$54.00	\$1,795.50	\$50.00	\$1,662.50	\$133.00
615.0601	TRAFFIC SIGN TYPE CC	SF	9.19	\$18.00	\$165.42	\$16.00	\$147.04	\$18.38
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	6.00	\$1,680.00	\$10,080.00	\$1,000.00	\$6,000.00	\$4,080.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	32,000.00	\$1.00	\$32,000.00	\$1.00	\$32,000.00	\$0.00
618.7	FLAGGERS	HR	600.00	\$36.00	\$21,600.00	\$34.00	\$20,400.00	\$1,200.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$52,000.00	\$52,000.00	\$150,000.00	\$150,000.00	(\$98,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$1,400.20	\$5,600.80	\$3,350.00	\$13,400.00	(\$7,799.20)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	212.00	\$5.60	\$1,187.20	\$5.00	\$1,060.00	\$127.20
621.31	SINGLE DELINEATOR WITH POST	EA	167.00	\$50.00	\$8,350.00	\$50.00	\$8,350.00	\$0.00
621.32	DOUBLE DELINEATOR WITH POST	EA	33.00	\$52.00	\$1,716.00	\$50.00	\$1,650.00	\$66.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	92.00	\$10.00	\$920.00	\$2.25	\$207.00	\$713.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	584,800.00	\$0.22	\$128,656.00	\$0.15	\$87,720.00	\$40,936.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	630.00	\$3.00	\$1,890.00	\$1.40	\$882.00	\$1,008.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	340.00	\$6.00	\$2,040.00	\$4.00	\$1,360.00	\$680.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	630.00	\$3.25	\$2,047.50	\$1.00	\$630.00	\$1,417.50
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	370.00	\$4.50	\$1,665.00	\$1.25	\$462.50	\$1,202.50
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	90.00	\$9.00	\$810.00	\$3.00	\$270.00	\$540.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	340.00	\$11.00	\$3,740.00	\$5.00	\$1,700.00	\$2,040.00

Tuesday, December 17, 2019

632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	430.00	\$11.20	\$4,816.00	\$8.40	\$3,612.00	\$1,204.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	1,080.00	\$1.25	\$1,350.00	\$0.42	\$453.60	\$896.40
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	46.00	\$4.50	\$207.00	\$2.01	\$92.46	\$114.54
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	616.00	\$4.50	\$2,772.00	\$2.12	\$1,305.92	\$1,466.08
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	500.00	\$9.10	\$4,550.00	\$2.60	\$1,300.00	\$3,250.00
670.066	MAILBOX SUPPORT ASSEMBLIES	EA	9.00	\$250.00	\$2,250.00	\$220.00	\$1,980.00	\$270.00
692.	MOBILIZATION	U	1.00	\$98,000.00	\$98,000.00	\$219,895.00	\$219,895.00	(\$121,895.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,200.00	\$1.00	\$3,200.00	\$1.00	\$3,200.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	12,000.00	\$1.00	\$12,000.00	\$1.00	\$12,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00

\$2,123,488.80

\$2,308,737.07

(\$185,248.27)

Total:

Tuesday, December 17, 2019